

## **Department of Finance**

Bureau of Purchase & Supplies 375 Executive Blvd., 2<sup>nd</sup> Floor Elmsford, N.Y. 10523 (914) 231-1872 www.westchestergov.com

### CONTRACT AWARD NOTIFICATION

TITLE:	Sapolin Pool Paint and "LOW VOC" Paints and Primers
CONTRACT NUMBER:	RFB-WC-13100
CONTRACT PERIOD:	April 15, 2016 through April 14, 2017
DATE OF ISSUE:	April 15, 2016
NEW EXTENDED CONTRACT PERIOD:	
COUNTY DEPARTMENTS:	DPW, PRC, DEF, AIRPORT, Participating Municipalities
SPECIFICATION REFRENCE:	As Incorporated In The Invitation for Bids
CONTRACTOR INFORMATION:	Appears on Page 2 of this Award

**Address Inquiries To:** 

County Departments & Vendors	Political Subdivisions	
Name: Martin Connolly Title: Senior Buyer Phone: 914-231-1329 Fax: 914-231-1546 E-mail: mmcf@westchestergov.com	Customer Service Name: Dianne Munro Phone: 914-231-1315 Fax: 914-231-1546 E-mail: dmm6@Westchestergov.com	

#### **Description**

A File Price has been extended for the period April 15, 2016 through April 14, 2017 for Sapolin Pool Paint, "LOW VOC" Paints and Primers as per the terms and conditions listed on the attached pages.

File Price RFB-WC-13100 has been extended for the purchase of Sapolin Pool Paints, and Sapolin Brand "LOW VOC" Paints and Primers with the Vendor listed below.

- Westchester County Orders for Sapolin Pool Paints to be placed via this File Price must be through the requisition process (NO EXCEPTIONS).
- Westchester County orders for Over-the-Counter Sapolin Low VOC Paints and Primers needed on an immediate basis may be placed directly with the vendor at vendor facility. An invoice referencing this File Price must be obtained at the time of purchase.

Pollack Paint has been awarded this File Price, which includes all items listed below (one and five gallon containers of paints and primers). Pricing includes delivery. ONLY THE PAINTS LISTED BELOW MAY BE ORDERED WHEN UTILIZING THIS FILE PRICE.

Vendor #936881 Pollack Paint 119 Woodworth Avenue Yonkers, NY 10701 (914) 968-2721 Terms: Net 30 FOB: Destination

FOB: Destination Delivery: 5 days ARO

# $\frac{\text{SAPOLIN "LOW VOC" INTERIOR ACRYLIC LATEX PAINTS AND PRIMERS AWARDED TO}{\text{POLLACK PAINT}}$

A: ACRYLIC LATEX INTERIOR PRIMER LOW VOC SAPOLIN PURE COAT	1 GALLON \$14.44	5 GALLON \$72.20
B: ACRYLIC LATEX INTERIOR FLAT FINISH LOW VOC PAINT SAPOLIN PURE COAT - ALL COLORS	1 GALLON \$17.14	5 GALLON \$85.70
C: ACRYLIC LATEX INTERIOR EGGSHELL FINISH LOW VOC PAINT SAPOLIN PURE COAT  - ALL COLORS	1 GALLON \$18.81	5 GALLON \$94.05

D:	ACRYLIC LATEX INTERIOR		
	SEMI-GLOSS FINISH LOW VOC PAINT		
	SAPOLIN PURE COAT		
		1 GALLON	5 GALLON
-	ALL COLORS	\$19.34	\$96.70

#### SAPOLIN NYS VOC COMPLIANT POOL PAINTS AWARDED TO POLLACK PAINT

A: CHLORINATED RUBBER POOL PAINT NYS VOC COMPLIANT SAPOLIN SPLASH GUARD

1 GALLON 5 GALLON - ALL COLORS \$27.79 \$138.93

B: WATER BASE NYS VOC COMPLIANT POOL PAINT SAPOLIN SPLASH GUARD 2

1 GALLON 5 GALLON - ALL COLORS \$29.46 \$147.30

POLLACK PAINT OFFERS ADDITIONAL SAPOLIN BRAND PRODUCTS AT A 25% DISCOUNT FROM MSRP